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Junior Inter IA Model Paper
Note: This question paper consists of three sections A, B and C.

Section-A 10×2 = 20
Very Short Answer Type Questions.

Note: Attempt all questions. Each question carries 2 marks.

1. Prove that the real valued function is an even function on R–{0}

A ó̄l ÐéçÜ¢-Ð]l {ç³Ðól$-Ä¶æ$… çÜÇ {ç³Ðól$Ä¶æ$… A° è̂l*ç³…yìl?

2. If A = {–2, –1, 0, 1, 2} and f:A→ B is a surjection defined by f(x) = x2 + x + 1 ({ç³Ðól$-
Ä¶æ$…),
then find B. (A= {–2, –1, 0, 1, 2} Oò³ çÜ…-{VýS-çÜ¢OÐðl$™ól B -MýS-¯]l$-MøP…yìl?
3. If the vectors are collinear vectors, then find λ and µ Oò³ çÜ -̈Ô¶æ-
Ë$-â¶æ çÜÆó‡-T-Ä¶æ*-OÌñæ™ól λ, µ Ë¯]l$MýS¯]l$-MøP…yìl?
4. Find the vector equation of the line passing through the point and parallel to

the vector ¼…§ýl$-Ð]l# §éÓÆ> ´ù™èl* çÜ -̈Ô¶æ-MýS$ çÜÐ]l*-…™èl-Æý‡…V>
E…yól çÜ-Æý‡-â¶æ-Æó‡-Rê çÜÒ$-MýS-Æý‡-×æ… MýS ]̄l$-MøP…yìl?
5. Find the angle between the planes ™èlÌê-Ë Ð]l$«§ýlÅ
Mø×ê-°² MýS ]̄l$-MøP…yìl?

6. Prove that A° è̂l*ç³…yìl?

7. Draw the graph of y = tan x in A…™èl-Æý‡…ÌZ {V>‹œ XÄ¶æ$…yìl?

8. If sinh x = 5 I™ól, show that  A° è̂l*-ç³…yìl?

9. Construct a 3× 2 matrix whose elements are defined by Ð]lÊË-M>Ë$ AÄôæ$Å-r-
r$Ï-V> E…yól JMýS 3×2 Ð]l*{†-MýS-̄ ]l$ MýS ]̄l$-MøP…yìl?

10. If and det A = 45 I™ól, then find x MýS¯]l$-MøP…yìl?
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Section - B 5×4 = 20
Short Answer Type Questions.

Note: Answer any Five questions. Each question carries 4 marks.

11. If then find A–1 I™ól A–1 MýS¯]l$-MøP…yìl?

12. Show that for any two vectors çÜ-¨-Ô¶æ-Ë-MýS$,

A° -̂ èl*-ç³…yìl?

13. If are non-coplanar vectors Ë$ A™èl-Î-Ä¶æ$ çÜ-̈ -Ô¶æ-Ë$. Prove that the

points are coplanar Ë$ çÜ™èl-Î-Ä¶æ$ çÜ¨Ô¶æ-
Ë$ A° -̂ èl*-ç³…yìl?

14. Prove that A° è̂l*ç³…yìl?

15. Prove that A° è̂l*ç³…yìl?

16. In ∆ABC {†¿¶æ$f…ÌZ, show that A° è̂l*ç³…yìl?

17. If θ1, θ2 are solutions of the equation a cos 2θ + b sin 2θ = c, tan θ1 ≠ tan θ2 and a + c ≠
0 then  find the values of

i) tan θ1 + tan θ2

ii) tan θ1. tan θ2

θ1, θ2 Ë$ a cos 2θ + b sin 2θ = c (tan θ1 ≠ tan θ2 and a+c ≠ 0) çÜÒ$-MýS-Æý‡-×ê-°-MìS Ýë«§ýl-̄ ]l-OÌñæ™ól..
i) tan θ1 + tan θ2

ii) tan θ1 . tan θ2 Ë ]̄l$ MýS ]̄l$-MøP…yìl?
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Section-C 5×7 = 35
Long Answer Type Questions.

Note: 
Answer any Five of the following. Each question carries 7 marks.

18. If f:A →B, g:B→C are bijections ̈ÓVýS$-×æ {ç³Ðól$-Ä¶æ*-OÌñæ-™ól then show that (gof)–1 = f–1og–1 A°
^èl*ç³…yìl?
19. Using mathematical induction, show that 49n + 16n–1 divisible by 64 for all positive

integers n? -VýS-×ìæ-™é-̄ ]l$-VýS-Ð]l$-̄ ]l íÜ§é®…™é-°² Eç³-Äñæ*-W…_ 49n + 16n–1 A¯ól-¨ n {ç³† «§ýl ]̄l ç³NÆ>~-…MýS
ÑË$-Ð]l-MýS$ 64™ø °ÔóæØ-çÙ…V> ¿êW-™èl-Ð]l$-Ð]l#-™èl$…§ýl-° è̂l*ç³…yìl?

20. Find the shortest distance between the skew lines and

where s, t are scalars. AÝû-çÙt-Ð]l Æó‡QË Ð]l$-«§ýlÅ §ýl*Æ>-°² MýS ]̄l$-
MøP…yìl?

21. If A+B+C = 180° I™ól, then prove that 

A° -̂ èl*-ç³…yìl?

22. If a = 13, b = 14, c = 15 --I-™ól, show that r2 = 12and r3 = 14

A° è̂l*-ç³…yìl?

23. Show that

A° -̂ èl*-ç³…yìl?

24. Solve the linear equations 2x – y + 3z = 9, x + y + z = 6, x – y + z = 2 çÜÒ$-MýS-Æý‡-×ê-Ë-¯]l$
Vú‹Ü gŸÆ>z-̄ Œl ç³§ýl®†ÌZ -Ýë-«̈ … è̂l…yìl? by using Gauss-Jordan ethod.
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